A32 Appendix A

In Exercises 47-84, multiply or find the special product.

47. (x + 3)x + 4)

48. (x — 5)(x + 10)

49. (3x — 5)(2x + 1)

50. (7x — 2)(4x — 3)

51 k2 —x + D2+ x + 1)
52, (x2+3x—2)x%2-3x—2)

53. (x + 10)(x — 10) 54. (2x + 3)(2x — 3)
55. (x + 2y)(x — 2y) 56. (2x + 3y)(2x — 3y)
57. (2x + 3)? 58. (4x + 5)2

59. (2x — 5y)? 60. (5 — 8x)2

61. (x +1)3 . 62. (x —2)3

63. (2x —y)? 64. (3x + 2y)3

65. (4x3 — 3)2 66. (8x + 3)?

67. [(m — 3) + nl[(m — 3) — ]
68. [(x +y) + 1 +y) — 1]

69. [(x —3) + yJ? 70. {(x + 1) — yP

71. (2r2 = 5)(2r%2 + 5) 72. (3a® — 4b*)(3a® + 4b?)
73. (bx — 3) 74. (3 + 5

75. (3x — 2)(kx + 2) 76. (2x + (2% - 1)

77. (1.2x + 3)? 78. (1.5y — 3)2

79. (1.5x ~ 4)(1.5x + 4) 80. (2.5 + 3)(2.5y — 3)

81. Sx(x +1) —3x(x + 1)

82. (2x — I)(x +3) +3(x + 3)
83. (u+ 2 — 2)u?+ 4)

84. (x + y)lx — y)x* + y?

In Exercises 85-88, find the product. (The expressions are
not polynomials, but the formulas can still be used.)

85. (Vi + VO)Va - 5) 86 (5 + V)5 - VA)
87. (x — J3) 88. (x + /3)"

In Exercises 89-96, factor out the common factor.

90. 5y — 30

92. 4x3 — 6x2 + 12x

94. 3x(x + 2) — 4(x + 2)
96. 3x — 12+ (3x — 1)

89. 3x + 6

91. 2x3 — 6x

93, x(x — 1) + 6(x — 1)
95. (x + 3)2 — 4(x + 3)

In Exercises 97-102, find the greatest common factor such
that the remaining factors have only integer coefficients.
97. 3x + 4 98. 1y + 5
99. 1x3 + 2x2 — 5x 100. 3y — 5y + 2y
101. 2x(x — 3) — 4(x — 3) 102. $y(y + 1) — 2(y + 1)

Review of Fundamental Concepts of Algebra

In Exercises 103-112, completely factor the difference of
two squares.

103. x* — 81

104. x2? — 49

105. 32y — 18
106. 4 — 36y?
107. 16x2 — 3
108. 55y — 64
109. (x — 1)? — 4
1110 9u? — 402

110. 25 — (z + 5)?
112. 25x% — 16y?

In Exercises 113 -122, factor the perfect square trinomial.

113. x2 —4x + 4 114, x% + 10x + 25
115. 412 + 4r + 1 116. 9x2 — 12x + 4
117. 25y% — 10y + 1 118. 36y — 108y + 81
119. 9u? + 24uv + 16v2 120. 4x? — 4xy + y?
121, x> — 3 + 3 122. 22+ z+ 4

In Exercises 123 -130, factor the sum or difference of cubes.

123. x3 — 8 124. x3 - 27

125. y3 + 64 126. z3 + 125
127. 83 — 1 128. 27x3 + 8
129. 2 + 27v3 130. 64x3 — 33

In Exercises 131-144, factor the trinomial.

131, x2+x—2 132, x2+5x+ 6

133. s2 - 55+ 6 134. 12—t -6

135. 20 — y — y? 136. 24 + 57 — 22
137. x? — 30x + 200 138. x% — 13x + 42
139. 3x2 — 5x + 2 140. 2x2 — x — 1
141. 5x2 + 26x + 5 142..12x2 + 7x + 1
143, —9z2 + 3z + 2 144, —5u2 - 13u+ 6

In Exercises 145-152, factor by grouping.

146. x3 + 5x2 — 5x — 25
148, 5x3 — 10x2 + 3x — 6
150, x5 +2x3 +x2+2
152. 8x5 — 6x2 + 12x> — 9

145, x®> - x2+ 2x — 2
147. 2x3 — x2 — 6x + 3
149. 6 + 2x — 3x> — x4
151. 6x> — 2x + 3x%2 — 1

In Exercises 153-158, factor the trinomial by grouping.
154. 2x?2 +9x + 9

156. 6x%2 — x — 15
158. 12x2 — 13x + 1

153. 3x2 + 10x + 8
155, 6x2 4+ x — 2
157. 15x2 — 11x + 2
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Appendix A.3

Polynomials and Factoring

In Exercises 197-200, find two integer valyes of c st

be factored, (There are Many

answers,)

197. 2x2 + 54 + c
199. 3x2 — , 4 c

201.

202.

203.

204.

198. 3x2 — 10x + .
200. 252 + 9% + ¢

Cost, Revenue, and Profit Ap electronicg manuf |
can produce and se]] radios per week. The tota]
(in dollars) of producing x radios jg

C = 73x + 25,000
and the tota] revenue R (in dollars) is .
R = 95y,

(a) Find the profit P in terms of S

(b) Find the profit obtained
week.

by selling 5000 radio

producing x hats jg

C =460 + 12«

and the total revenue R (in dollars) is
R = 36z,

(a) Find the profit P in termsg of X.

an amount of 500(1 + )2,

(a) Write this Polynomial in standard form.

(b) Use a calculator to evaluate the polynomial for t
values of r shown in the table.

(¢) What conclusion can you make from the table?

Compound Interest After 3 years, an investment ¢
$1200 compounded annually at ap Interest rate r wi
yield an amount of 1200(1 + r)3.

(a) Write this polynomial in standard form.

(b) Use a caleulator to evaluate the polynomial for the
values of r shown in the table.

2

|
1200(1 + 7)3

(C) What conclineimm oo



